THE LANDSCAPING QUESTION

ADD THESE QUESTIONS TO ACTIVITY 6.6.1

A law office plans to do some landscaping around their building. They have two estimates:

Company A: $240 for a full landscape plan, plus $30 per hour to do the work

Company B: $60 per hour to do the work (which includes the landscape plan)

BEFORE YOU START:

1.  Write an equation for the cost at Company A.

2.  Write an equation for the cost at Company B.

COMPLETE QUESTION 1.

1.
Complete the table of values for each company.

	Company A
	
	Company B

	Time (h)
	Cost ($)
	
	Time (h)
	Cost ($)

	0
	
	
	0
	

	2
	
	
	2
	

	4
	
	
	4
	

	6
	
	
	6
	

	8
	
	
	8
	

	10
	
	
	10
	

	12
	
	
	12
	

	14
	
	
	14
	

	16
	
	
	16
	


1.  What are the first differences for the table of values for company A and B?

2.  What does this tell you about what the graph will look like?

COMPLETE QUESTION 2.
2.
Display this data on the grid below. Label carefully and use a different colour for each company.
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1.  What is the rate of change for company A?

2.  What is the rate of change for company B?

3.  What is the initial cost of company A?

4.  What is the initial cost of company B?

COMPLETE QUESTIONS 3,4,5,6,7

3.
At what point on the graph is the cost the same for both companies? 
(You need both time and cost.)

4.
What characteristics does that point have on the graph?

5.
If the job took 6 hours, which company would you choose? Explain your answer.

6.
If the job took 12 hours, which company would you choose? Explain your answer.

7.
Complete each of the following sentences:

I would choose Company A if…

I would choose Company B if…

1.  If you spent $1050, which company would you choose?

2.  If you spent $1050, how many hours of work did the company do?

